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Question Number : 1 Question Id : 9662316823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& series is giverl with one term missing. Select the correct alternative from the given ones that will complete the
Series.

LM OV E Y
Options:
1. % H
2 V]
2% ]
4 % G

Question Number : 1 Question Id : 9662316823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Srgerd Team e &, Faed ¥ v ug gr 81 far vy et # 9 gy wEt Eewer gy, ST S @ m e

LM ¥ E 7Y
Options:
1. % H
= W]
2% ]
4 % G

Question Number : 2 Question Id : 9662316824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word from the given alternatives.

Options:

1. % Sword
2. % Pen

3. ¥ Knife
4. % Dagger

Question Number : 2 Question Id : 9662316824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TogTTaT wa & fary o et & & Ry aeg w1 afam
Options:

1. % Fedmw

2 % ug



3 ¥ g
4 % FEw

Question Number : 3 Question Id : 9662316825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd letter fletters from the given alternatives.

Options:

1. % JNTE
2. % EFLT
2% MOWE
4. % FJFU

Question Number : 3 Question Id : 9662316825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt v # fay My Rt # & Buw e sart @ g
Options:

1. % JNTE

2. % BFLT

3% MOWE

4 « FJPU

Question Number : 4 Question Id : 9662316826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related letters from the given alternatives.

NS JoH]:?
Options:
1. ¥ LF
2. % DG
2. % EF
4 % EG

Question Number : 4 Question Id : 9662316826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FraimiET wa # T my foewedt o & detia arert w1 giam

NS JoH]:?
Options:
1. ¥ LF
2. % DG
2. % EF
4, % EG

Question Number : 5 Question Id : 9662316827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, MIN' is written as ‘=, 'LIFT’ is written as "4’ What is the code for MORGAT' in that
code language?

Options:
1. %7
2. %5
3. ¥ 6
4 % g

Question Number : 5 Question Id : 9662316827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U TAtE wE e H CMING # 3 ST IET s, LIFT @4 R 9aT 81 59 WS AT CMORGAT® @ F1E &7 57
Options:

1. % 7

o ® g

3 Vg

4 % g

Question Number : 6 Question Id : 9662316828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 'POT’ is written as ‘537, "GET’ is written as ‘34’ What is the code for 'HIN' in that
code language?

Options:
1. % 321
= ¥ 33
3% 29
4 % 27

Question Number : 6 Question Id : 9662316828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AE W e H POT #1153 fer AET g, (GETY W34 o AET 81 59 wiE AT # HINT @ FiE F47 57
Options:

1. % 31

2 ¥ 33

3% 29

4 % 27

Question Number : 7 Question Id : 9662316829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
F is the sister of Z. B is the brother of A&, K i5 the brother of Z. A 15 the mother of K. How is K related to BY

Options:

1. % Son

2. % Father
3. ¥ Nephew
4. % Husband



Question Number : 7 Question Id : 9662316829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PZH ORI E ATWERNK, ZFTHE 71 A, K FTAGT 3 K, B & Tore T TaltaT 27

Options:
1 % g7
o ® fiET
2 & o
4 % gig

Question Number : 8 Question Id : 9662316830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statermnents to be true even if they seern to be at variance from comrmonly knowr
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
staternents.

Staternents:
[ AlHare K.
IIMoki1sT.

Corclusions:

[. HoTisE.

II. MoHIsT.

III. Some T are H.

Options:

1. % Only conclusion 1T follows

2. % EBoth conclusion I and III follows
2. ¥ Both conclusion [ and 1T follows

4. % MNeither conclusion follows

Question Number : 8 Question Id : 9662316830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T o v g e AR 39 wTg 39 et Ut ATenid g fwerd T o 81 U 0 et @ |l 7, o 39 /e A
Fet & Fgar e &t e ud offe O Trerffed od T T o @t & Tomad, for o st S s o¥ gieETa 2

Options:

1. % reret Termerd 111 ST CanT & T ol

2 % gt w1 T I Srgae @i gl
3. ¥ 1 w1 F2T I SgE a7 o)
4 % g ot Tt srger TRt a8



Question Number : 9 Question Id : 9662316831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the missing number from the givern series.

5, 27, 103, 407, 7
Options:

1. % 1429

2 ¥ 1623

= % 1521

4 % 1679

Question Number : 9 Question Id : 9662316831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Toafea weg o 1 e e # 9 oF afw S H
8, 27,103, 407, 7

Options:

1. % 1429

2 ¥ 1623

2 % 1531

4 % 1679

Question Number : 10 Question Id : 9662316832 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

Bod40:09: 7
Options:
1. % 74
2. % 70
3. ¥ El
4 % g5

Question Number : 10 Question Id : 9662316832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiET ng § for Ty et § & deidT d@ear @ giam

Eod40 a0y
Options:
1. % 74
2. % 70
3. ¥ Bl
4 % g5

Question Number : 11 Question Id : 9662316833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ev interchanging which two nurrbers the equation will be correct?

dxz2+2-1=E
Options:

1. % d4and 1

2. % 4and 3

3. ¥ Zand 2

4 % zand 1

Question Number : 11 Question Id : 9662316833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TorT ST TRegTalf T S0 H WEUE el UF GHIE0 Tgl 51 SAgT?

4xwz2+3-1=5
Options:

1. % 4qum1

Z % 4T3

3. ¥ 2qur2

4. % ZuTl

Question Number : 12 Question Id : 9662316834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging the given two signs which of the following equation will e correct?

+and +

Options:

1. ¥ 24+9x6+3=21

2 ¥ 14+ 134+ 28 x2 =14
3% 4x3+E6+2=15

4 #2r9x2+2=11

Question Number : 12 Question Id : 9662316834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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+ T +

Options:

1. #¥32+39x8+-3=21

2 ¥ 14+ 134268 x2=14
24w E+2=15

4 #2rax2+2=11

Question Number : 13 Question Id : 9662316835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

2 6 B
3la2]al|7]511]]6]2]9
5 3 3]
Options:
1% g2
2 ¥ 73
3. % B4
4 % 72

Question Number : 13 Question Id : 9662316835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e mag # o i feent ® 8 wey g (7) o ST 0T ST et T @ e

El o 8
13[42]a][7]51]1][6]2]9]
5 3 3
Options:
1 % g2
> ¢ 78
z. % 54
4 % 72

Question Number : 14 Question Id : 9662316836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hf7PEPE=16and 9F2F4 =15 then3ZFOFP7 ="

Options:
1.9 10
= % 11
3. %9
4. % B

Question Number : 14 Question Id : 9662316836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e 7PIPE =16 TMOP2FP4 =158, TAIPOP7 =7

Options:
1.9 10

2 % 11
3% g
4 %3

Question Number : 15 Question Id : 9662316837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Identify the diagrarn that best represents the relationship among the given classes.

Leopard, Elephant, Anirral
Options:

9
@
G0
©

na
i

t
#

Question Number : 15 Question Id : 9662316837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 9662316838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Marmta starts walking frorn her house towards MNorth to go for shopping. She walks 600 metre and reaches
shop & She then turns right and wallss 200 metre to reach shop B, She again turns right and walles 200 metre
to reach shop C. What 15 the distance between shop & and C7

Options:

1. % 500 metre
Z % 500 metre
2% 400 metre
4. % 200 metre

Question Number : 16 Question Id : 9662316838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 500 Hlex
2. ¥ 500 Aiex
3 % 400 Aex
4. % 300 Ay

Question Number : 17 Question Id : 9662316839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev folding the given paper, which of the following cube cannot be formed?

R
918
H| 6
Options:
iy



<>

3 ®

<,

4 «F

Question Number : 17 Question Id : 9662316839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Y

Question Number : 18 Question Id : 9662316840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

.f“w\? wil.ﬂf
LA gif 2 ||
L™ @
Options:
1 v .'r?

J

Question Number : 18 Question Id : 9662316840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¢ o




J

Question Number : 19 Question Id : 9662316841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:

Question Number : 19 Question Id : 9662316841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl na & o my Resdt # & By syl @ g

Options:




Question Number : 20 Question Id : 9662316842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a rmirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

A

9

g "
b |

Options:

Q

0

-1 L,

Question Number : 20 Question Id : 9662316842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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R 4 L
h & 9
2 7

B

Options:



J & A
Qg £ A
1« \ L |
Jd 4 4
e £ 8
> R T (o
L & A
e £ o
z #® v <
J b A
Q £ o
4 % % e
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Question Number : 21 Question Id : 9662316843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Festival of Baisakhi is celebrated in which month?

Options:

1. % March

= ¥ April

3. % February

4. # January

Question Number : 21 Question Id : 9662316843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SHTET T A [ A= H A=T A1dT 27
Options:

1. % g

2 ¥ el

3. ® Al

4. ® S

Question Number : 22 Question Id : 9662316844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Elephanta Cave Termnple 15 dedicated to Lord ______.

Options:
1. # ¥ishnu

2. % Shiva
= % Hanuman
4 % Brahma

Question Number : 22 Question Id : 9662316844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T e T T[0T AT e ______ 1 T 31

Options:
1. % aEE]
2 ¥ T

3. % FAA
4. % =g

Question Number : 23 Question Id : 9662316845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pair of Dance - State is not correct?

[.Bharatnatyam - Tarul Nadu
I1. Kathalali - Kerala

IIT Kuchipudi - Karnatalka

[V, Sattriva - Assam

Options:



1 % 1]
2. % I
3 VIV
4. %]

Question Number : 23 Question Id : 9662316845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEAET § | B A7 e - T @ 00 951 A5 57

|, IR - TS
I1. Fepefret] — el

v o -
Options:

1. %11

= %11

3.V

4 %1

Question Number : 24 Question Id : 9662316846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ is the total surmn of the value of the final goods and services of 3 sectors of economy of a country
produced during a year.

Options:

1. % Gross Domestic Product
2. % Gross Yalue Froduct

3. % Total Value Product

4. % Gross Domestic Means

Question Number : 24 Question Id : 9662316846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ T Y o G FeuTiod oo T arfegerenT & 3 gt & alfan aegart o daralt @ ge w1 3 a0 8

Options:

1. ¢ | Wiy JeUTg,
2. ® ged grd oS
3. % g g o
4 % gEe il dTe

Question Number : 25 Question Id : 9662316847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who publishes Financal Stabality Report i India”?

Options:
1. % NITI Aavog
2. % Finance Ministry

2. % Reserve Bank of India



4. % Charmber of Cormmerce

Question Number : 25 Question Id : 9662316847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U 4 oy FeeraT fte w1 werTfd e 87

Options:

1. % i sme

o ® o9 I

z. ¥ gRA g e o
4 ® gt grEd

Question Number : 26 Question Id : 9662316848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Acids and bases react to give

Options:
1. % Salt

2. % Esters
3. % Protein
4. % Fats

Question Number : 26 Question Id : 9662316848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST TR iR T & 3

Options:

1. ¥ 9O%
2. % e
z. % O
4. % o

Question Number : 27 Question Id : 9662316849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following diseases does MNOT spread from drinking water?

Options:

1. % Typhoid
2. % Cholera
2. ¥ Anermia
4. % Dwsentery

Question Number : 27 Question Id : 9662316849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT & 1 SRy O 3 ur a3 g el 1 57

Options:
1. ® IE®ES
o % BT



2. ¥ TRIeOd
4 % o

Question Number : 28 Question Id : 9662316850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is an ocean?

[. Facific
II. Indian
III. Atlantic

Options:

1. % landIl

2 % [TandIll
2. % landIII

4. %1, 11 and III

Question Number : 28 Question Id : 9662316850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafEET # & 19 |7 UF AgTEnT 57

1. 0T
II. wa T
111, aealids

Options:

1. % Id9rll

2. % 11 qerlll
3. % 1 99Tl

4. %1, 11 gemlll

Question Number : 29 Question Id : 9662316851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following river drains into Arakbian Sea?

Options:

1. ® Ganga

Z % Brahrmaputra
3. % Yarmuna

4. % Narmada

Question Number : 29 Question Id : 9662316851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o & @ |l AT afd 9w H Tt g

Options:
1. %
2. ® FEF
3% g
4 Tar



Question Number : 30 Question Id : 9662316852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following area has MOST of the Elack 50il?

Options:

1. % MNorthern Plains
2 % Desert Areas

2. ¥ Deccan Flateau

4. % Himalayas

Question Number : 30 Question Id : 9662316852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT T T iR # & e g it i
Options:

1. % ggofge

2 % deart gems

z ¥ AT R

4, ¥ fEOwg

Question Number : 31 Question Id : 9662316853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who built the Taj Mahal?

Options:

1. % Akbar

= % EBabur

3. % Aurangzeb

4.+ Shah Jahan

Question Number : 31 Question Id : 9662316853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTAUEH Tee samaT 417

Options:

1. % amper
2. % g
2 ® T
4. e

Question Number : 32 Question Id : 9662316854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Jallianwalla Bagh incident toolk place i which year?

Options:
1.9 19139

2 % 1911
3. % 1920



4. % 1918

Question Number : 32 Question Id : 9662316854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
G & o1 AT T o H 57

Options:
1. 1919

2. % 1911
3. % 1920
4 % 1918

Question Number : 33 Question Id : 9662316855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Yedic Civilization is associated with corming of ______.
Options:

1. ¥ Buddhists

2. ¥ Arvans

3. % Mongols

4. % Jains

Question Number : 33 Question Id : 9662316855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e JvaaT & AT & 2T 8
Options:

1. % gt

2 ¥ st

= ® ot

4 ® 59

Question Number : 34 Question Id : 9662316856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which state the central government has approved setting up of E - Foreigners Tribunals in May 20197

Options:

1. % Rajasthan
2. ¥ Assam

3. ® MNew Delhi
4. % Punjab

Question Number : 34 Question Id : 9662316856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T2 2019 ¥ thg AR o e tea o =Tt eegme wanfid w1 ey 3 27
Options:

1. ® TFere

o % gy



3. % qE faww

4 ® tAT

Question Number : 35 Question Id : 9662316857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The bool: Maharana Fratap: The Invincible wWarrior is authored by ______
Options:

1. % Dr Murali Mohan Chuntharu

2. % Mansi Gulati

2. % Rirma Hooja

4. % Anita Desai

Question Number : 35 Question Id : 9662316857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“HERTOT AT, T SR aTaT JEde
Options:

1. ¥ ST Al e

2 % [T AT

3. % QT g

4 % grftar e

Question Number : 36 Question Id : 9662316858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat 15 the minirmurm age to contest LokSakbha elections?

Options:
1. % 35
2 % 21
3. % 40
4. % 25

Question Number : 36 Question Id : 9662316858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATl T AT e~ @ [o] ~gAdH T F4T 57
Options:

1. % 35

= % 21

3. % 40

4 ¥ 25

Question Number : 37 Question Id : 9662316859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Prearnble to the Indian Constitution mentions ‘Equality of "

Options:
1. % Status and COpportunity



2. % Liberty of profession
3. % Empowerrment and justice

4. % Happiness and life

Question Number : 37 Question Id : 9662316859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
&I TAT ﬂﬂaﬁa@%]

Options:

1. ¥ e T Sae T & aHar
2. ® g & Ta a1

3. % Femh T 9T S

4 % g@ T Hled

Question Number : 38 Question Id : 9662316860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the President of Constituent Assernbly?

Options:

1. # K M Munshi

2. % Jawaharlal Nehru
2. ¥ Rajendra Prasad

4 % B R Ambedkar

Question Number : 38 Question Id : 9662316860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR FT 3 aTey w1 27

Options:

1. % g gt

2. ¥ FAETATA A5E
3.V T T

4. % & AW sweEE

Question Number : 39 Question Id : 9662316861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lakshya Ser is related to which of the following sport?

Options:

1. % Kho-Kho
2. % Badrminton
3. % Chess

4 % Snoclker

Question Number : 39 Question Id : 9662316861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ay & Tmioies § 9 o 97 & gaidT 27

Options:



1. % mr-=r
2. o d=fifea
% % e
4. ® FghH

Question Number : 40 Question Id : 9662316862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Fuglty World Cup 2013 will be held in which country?

Options:

1. % Japan

2. % afghanistan
3. % Germany

4 % New Zealand

Question Number : 40 Question Id : 9662316862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T @ 2019 o o § St e st

Options:

1. % W

2. ¥ ETeEET

3 & ST

g4, -q;‘ﬂlﬁz

Arithrmetic Ability

Group Number : 3

Group Id: 966231136

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrnetic Ability

Section Id : 966231251
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Display Number Pane: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 966231273
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662316863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the Highest Common Factor of 42, 56, 98, 112 and 1267

Options:
1. % 18
2 %7
3% 14
4 % 18

Question Number : 41 Question Id : 9662316863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
42, 56, 98, 112 TAT 126 T HedH GHIUTd & F47 57

Options:
1. % 16
=z w7
3.9 14
4 % 18

Question Number : 42 Question Id : 9662316864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1+ J 1
1+ 3
What is the value of: ——5
3+—
2
Options:
b
3
1. ®
E
11

2



Question Number : 42 Question Id : 9662316864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1
1+ 1
I —— Fwraw Fm &7
3+1
2
Options:
B
3
1 ®
15
11
2
a7
&
3 =
11
4 ®

Question Number : 43 Question Id : 9662316865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 135
‘What is the value of: [— = -

Options:



26

19999

il #®
437
1890

o P
541
2230

3 ®
a3
1640

4 ®

Question Number : 43 Question Id : 9662316865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

[E_E;E\lxﬁ_i
5 6 3) B 30 I A T §7

Options:
26
19999
1 ®
437
1890
2w
541
2230
= *
93
1640
4 ®

Question Number : 44 Question Id : 9662316866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the average of first 15 multiplies of 47



Options:
1. % 20
= W32
3% 2B
4 % 35

Question Number : 44 Question Id : 9662316866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 F URe 15 TR 9T ST T4 57
Options:

1. % 20

2 ¥ 32

3% 28

4 % 35

Question Number : 45 Question Id : 9662316867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& wendor sells 70% of goods at 10% profit and remaining at 5% loss. If he had sold all the goods at 6% profit,
then he would have gained Es. 500 more. What is the cost price of the goods?

Options:

1. % Rs 50000
= ¥ Rs. 100000
2. % Rs 70000
4 % Rs 20000

Question Number : 45 Question Id : 9662316867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e T aregall @1 70%, 10% 3 AT U% 92T 99 BT 5% FT U s=iaT 51 9 o af aegail ®1 6% & @1 u% swd T, a7 39 500
T T SITERR AT SIaN Gegall @ wd Ord 947 57

Options:

1. % 50000 7o
2. ¥ 100000 T
3. % 70000 T

4 ® 30000 FqF

Question Number : 46 Question Id : 9662316868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If Ajav'S ICOIme 15 increasad from Es. 2040 t0 Es. 2720, then what is the percentage increase in the incorne?

Options:

1. % 30 percent
= % 333 percent
3. % 2L percent
4 % 375 percernt



Question Number : 46 Question Id : 9662316868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ate S @ ST 2040 B0 | SG 16 2720 T4 F &1 S 8, °7 319 # {oha ! uidar &7 g 38 87

Options:

1. % 30 s
o ¥ 333 udaT
3. % 25 uidea

4 ¥ 37 cuided

Question Number : 47 Question Id : 9662316869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The value of a machine appreciates by 30% in first vear and appreciates by 20% in second year. If the value of
machine becormes Rs. 17160 after 2 years, then what was its initial value?

Options:

1. % Rs 11200
Z % Rs 11000
2. % Rs 10900
4 % Rs 11300

Question Number : 47 Question Id : 9662316869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T WA BT Upe T 30% | a5d1 § 90 GEe Ay 20% § a1 5 Aie &F o wad #a @ gFa 17 160 T g A g, 91
SFERTTT T ST Yol T 77

Options:

1. % 11200 704
2. ¥ 11000 70
3 % 10800 w0

4 ® 11300 =0

Question Number : 48 Question Id : 9662316870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& narnber 15 decreased successively by 10%, 20% and then 0% What will be the net decrease in percentage”

Options:

1. # S0 percent
2. % 48 percent
3. ¥ 496 percent
4 % 47 2 percernt

Question Number : 48 Question Id : 9662316870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T | 1 WHITER 10%, 20% 97 T 0% & 9o mar 31 widsd | e st 21 gi?

Options:
1. % 5o uitaT

= % 45 gidaT



3. ¥ 496 UidadT
4 ® 47 2 yiderT

Question Number : 49 Question Id : 9662316871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of cost price and selling price of an article is 8 : 13 and total profit is Bs. 225, What is the selling
price of the article?

Options:

1. % REs £15
2. % Rz 58S
2. % Rs 715

4 % Hs 635

Question Number : 49 Question Id : 9662316871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U %q, oF W9 Hrd 39T [ Jed & 2ud 8 © 13 § 707 §df a9 225 T 81 aeq BT fdwd Jrd 747 27
Options:

1. % g15 o

2. ¥ SES w

3 % 715w

4 # §3C v

Question Number : 50 Question Id : 9662316872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The surmn of two numbers is 44 and their difference is 8. What is the ratio of these numbers?

Options:

1. % 8:15
2. % 713
3.¥9:13
4 % 11:9

Question Number : 50 Question Id : 9662316872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o1 TR T AT 44 3 T I9%T 3i9¢ 8 21 Sl 7 S0 F7 27
Options:

1.% 815

2 % 713

3.9 9:13

4 % 11:9

Question Number : 51 Question Id : 9662316873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifa.b=1:2 b:c=2:2andc:d=1:5 thenwhatisa: :b:c:d?

Options:



1.% 1:4:5:12
2 % 2:6:3: 8
Y 3:6:4:20
4 % 4:3:10:8

Question Number : 51 Question Id : 9662316873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gea b=1:2b:c=3:27Mc:d=1:5% Ta:b:c:dFams?

Options:

1.%1:4:5:12
2. %™ 2:6:2. 8
3V 26420
4 % 4:3:10:8

Question Number : 52 Question Id : 9662316874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The angles of a triangle are in the ratio 5 . 15 16, What should be subtracted from each angle so that their
ratio becomes 2 : 12 147

Options:
1. ¥ 10
2. % 8
30w 12
4 % 5

Question Number : 52 Question Id : 9662316874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TF AT # FS - 15 16 & SguTd | g1 Ued® FI0T § 9T 9o T AT Algy J1id ST squd 30 13 14 grame

Options:
1.9 10
R =
3% 12
4 % 5

Question Number : 53 Question Id : 9662316875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A surm is kept on simple interest. It gives an amount of Rs. 5760 and Rs. 7920 after 2 years and 4 years
respectively. what is the surm?

Options:
1. % Hs ZRO00

2. ¥ Rs. 3600
2. ® Hs. 4000
4 % Hs 4200

Question Number : 53 Question Id : 9662316875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
T SRS T AR 22T O Tl T 9% 2 a9 a9 4 a9 W, Fde: 5760 204 T2 7920 0 &7 feres dd 1 81 et o

Options:
1. % 3500 @0

= % ZE00 T
= ® 4000 w0
4 ® 4200 w0

Question Number : 54 Question Id : 9662316876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& TAan covers a Ccertain distance in 2 hours at his original speed. If he walks at (& 4th of original speed, then
he can cover additional € km in that time. Wwhat is the original speed of the man?

Options:

1. % 6 knjhr
2. % 9km/fhr
3. ¥ B kmjhr
4 % 10 km/hr

Question Number : 54 Question Id : 9662316876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T HIGHT ST ATt Mid & Ter e gl &1 3 O¢ H T4 3 o1 51 Ale, g Su1 ared foie id o (5] 4) § =war g, a1 g 6 o
Y. T a6 U T T GHAT 51 SITCHT bl A i i ol 37

Options:

1. % g fpdr e
2. % 9 for At e
3. ¥ g fFdr e
4. % 10 T e

Question Number : 55 Question Id : 9662316877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, Band Ccandoaworkin 10, 12 and 15 days respectively. How many days &, B and C together will take to
cormplete the same work?

Options:

1. ® S days

2. % Edays

2. ¥ ddays

4 % 17|t days

Question Number : 55 Question Id : 9662316877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%pB T C T F14 FIFAT 10, 12 797 15 Toa # q@r o T 1 A, B 797 C |07 Tea e @1 QT & o Ty Tewamr sy

Options:

1. % 37
o ® g



3. ¥ 4T
4 ® 17/5fq

Question Number : 56 Question Id : 9662316878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If 45 binders bind 4200 books in 16 days, then how many binders will be required to bind 1500 books in 45
daysy

Options:
1.¥5
Z ® g
3. % 15
4. % 10

Question Number : 56 Question Id : 9662316878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e 45 Fieg died amet 16 T H 4800 Framet W Feg diend € 91 1500 frgret i 45 27 § Fieg, gt & o g Seg
AT TTAT HT HTTSTFTT FITT7

Options:
1.¥5
= % 9
3. % 1%
4 % 10

Question Number : 57 Question Id : 9662316879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the volume of a cube is 16@ cm?®, then what is the total surface area of the cube?

Options:

24 cm?
1l #

48 cm?
=

72 cm?
3 ®

96 cm?
4. %

Question Number : 57 Question Id : 9662316879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

I TF O F HTAT 162 cm® §, o O H HoT [SET STher T 872

Options:

24 A2
1 4
48 T.HT2
s
72 Q. A2
3.
96 H.HT.2
4 #

Question Number : 58 Question Id : 9662316880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the volume of a sphere is 38808 cm?, then what is the total surface area of the sphere?

Options:

5536 cm?
1 %

5518 cm?
5 W

5544 cm?
3. ¢

5550 cm?
4 %

Question Number : 58 Question Id : 9662316880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

uﬁ;wﬂﬁmm%anaﬁrﬁrﬁ%ﬂﬁmﬁmsmwmm%‘?_



Options:

5536 ®. #1.2

1 %

5518 & . #1?

o

5544 F. #HY.2

5550 & #:Y.2

Question Number : 59 Question Id : 9662316881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chart given below shows the various expenses incurred by a family. The various expenses are showtl
as the percentage of total expenses incurred.

If the expenses incurred on B is 100, then what is the total expenses incurred by the family?
Options:

1. % z00

2 % 200

2. ¥ 400

4 ® 500

Question Number : 59 Question Id : 9662316881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



?Ewg%awwﬁawmmmﬁﬁﬁwﬁmﬁaﬁam% Ter Uep e & T T e TR T ] o Ui 3
T TRIT 2

4 B O 7 T =i 100 §, 7 UNE g T T e S a4 g7
Options:

1. % 200

2 % 300

3. 9 400

4. % 500

Question Number : 60 Question Id : 9662316882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of bikes sold by a businessman in five years.

250 4
200
200 1 |

150 1

100 o o
ED | - ."-\.'

Yl ¥ Y3 Y4 YS

Number of bikes

MNurmnber of bikes sold in year ¥2 is how much percentage less than the number of bikes sold in year Y47
Options:

1. % 25 percent

= % 50 percent

3. ® 75 percent

4. % 100 percent

Question Number : 60 Question Id : 9662316882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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150 A

i alls
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Options:

1. ¢ 25 e
2. % SO uide
. % 7O
4, % 100 AT

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

eneral English

4
966231137
0

0

No

No

0

20

Yes

0

0

eneral English

966231252
1

Online
Mandatory
16

16

20

Yes

No

1
966231274
Yes



Question Number : 61 Question Id : 9662316883 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose an option that Contains an error.

Options:

1. % The rain came pouring dowr in torrents

2. % Lesson learnt easily are soon forgotten

2. ¥ Being dissatisfied, he resigned from her position

4. ® [ saw the storm approaching

Question Number : 61 Question Id : 9662316883 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose an option that Contains an error.

Options:

1. % The rain came pouring dowr in torrents

= % Lesson learnt easily are soon forgotten

3. % Being dissatisfied, he resigned from her position

4. % [ saw the storm approaching

Question Number : 62 Question Id : 9662316884 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

: MCQ Option Shuffling : Yes Display Question Number : Yes

: MCQ Option Shuffling : Yes Display Question Number : Yes

: MCQ Option Shuffling : Yes Display Question Number : Yes

Find the part of the given sentence that has an error in it. If there is no error, choose Mo error’,

There is 5till (1) | o cure 0 (2) [ the cormomon cold (3) f. Mo error ()

Options:
1.%1
2 2
3. %3
4 % 4

Question Number : 62 Question Id : 9662316884 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

: MCQ Option Shuffling : Yes Display Question Number : Yes

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

There is s5till (1) | no cure to (2) [ the cormrmon cold (2) /. MNo error (4)

Options:
1.%1
2 W2
3 %3
4 % 4

Question Number : 63 Question Id : 9662316885 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Murmbai is farmous (with) its textiles.
Options:

: MCQ Option Shuffling: Yes Display Question Number : Yes



1. % 1o
2. % along
3. ¥ for

4. % Do improvernent

Question Number : 63 Question Id : 9662316885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Mumbai is famous (with) its textiles.
Options:

1. % to

2. % along

3. ¥ for

4. % MNoimprovernent

Question Number : 64 Question Id : 9662316886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The African elephant is now confined (as) Central Africa.
Options:

1.9 o

2. % by

3. % with

4. % DNoimprovernent

Question Number : 64 Question Id : 9662316886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

The African elephant is now confined (@s) Central Africa.
Options:

1. ¥ to

2. % by

3. % with

4. % Do improvernent

Question Number : 65 Question Id : 9662316887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He is proficient Mathermatics.

Options:
1. % by

Z% into



3% to
4 % in

Question Number : 65 Question Id : 9662316887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He is proficient Mathermatics.

Options:
1. % by
2. % into
2% to

4 % in

Question Number : 66 Question Id : 9662316888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: alawr

) are not fit

E: some grasses
S: for developing

Options:

1. % RPSQ
2. ¥ ROSP
2. % POQRS
4. % REPQ

Question Number : 66 Question Id : 9662316888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: 3 lawm

) are not fit

E.: some grasses
5. for developing

Options:

1. % RPSQ
2. ¥ ROSP
2. % POQRS
4. % REPQ

Question Number : 67 Question Id : 9662316889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Zhoose the word that is opposite in meaning to the given word.

Zourteous
Options:

1. % Scour

2. * Reliant
3. ¥ Sarcastic

4. ® Dry

Question Number : 67 Question Id : 9662316889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Courteous
Options:

1. % Scour

= % Reliant
3. ¥ Sarcastic
4. % Dry

Question Number : 68 Question Id : 9662316890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that rmeans the same as the given word,

Tedious
Options:

1. % Athlete
2. ¥ Tiresome
3. % Charge

4 # Evidence

Question Number : 68 Question Id : 9662316890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Tedious
Options:

1. % Athlete
2. ¥ Tiresome
3. % Charge
4. % Evidence

Question Number : 69 Question Id : 9662316891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word,

Options:



1. % Fluorescent
2. % Fluoroscent
3. % Fluoresent

4. % Florescerit

Question Number : 69 Question Id : 9662316891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. % Fluorescent
2. % Fluoroscent
3. # Fluoresent

4. % Florescent

Question Number : 70 Question Id : 9662316892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wordl.

Options:

1. ¥ Admissible
2. % Admiscible
3. #® Admissibel
4. #® adrnisibal

Question Number : 70 Question Id : 9662316892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ¥ Adrissible
= % Admiscible
3. % Admissibel
4. % adrnisibal

Question Number : 71 Question Id : 9662316893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Accaptable
2. ¥ Dissociate
3. % Calender
4 % pcheive



Question Number : 71 Question Id : 9662316893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Accaptable
2. ¥ Dissociate
Z. % Calender
4. % Acheive

Question Number : 72 Question Id : 9662316894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

To lead by the nose

Options:

1. # In the final analysis

= % To forgive and forget

3. ¥ To make one obey hirmher

4. % Mot on good terms with sormeone

Question Number : 72 Question Id : 9662316894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Fhrase.

To lead by the nose

Options:

1. % In the final analysis

2. ® To forgive and forget

2. ¥ To make one obey him | her

4. % Not on good terms with somecne

Question Number : 73 Question Id : 9662316895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

To face the music

Options:

1. # Truly; as it happens

= ¥ To face some criticismm

3. #® To strike when the situation is favourable

4. % Incidentally faccordingly



Question Number : 73 Question Id : 9662316895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Fhrase.

To face the music

Options:

1. % Truly; as it happens

2. ¥ To face some criticism

2. % To strike when the situation is favourable

4. % Incidentally faccordingly

Question Number : 74 Question Id : 9662316896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

Zhange ordinary metal into gold
Options:

1. % Alchery

2. % Namesake

3. % Copy

4. ® Sanctuary

Question Number : 74 Question Id : 9662316896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the Ziven sentence.

Charge ordinary metal into gold
Options:

1. % Alchermny

= % MNamesake

3. % Copy

4. % Sanctuary

Question Number : 75 Question Id : 9662316897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

The act of misappropriation of money
Options:
1. ® Lease

2 % Yerbose
2. #® Aquatic

4. % Ermbezzlement

Question Number : 75 Question Id : 9662316897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

The act of misappropriation of money
Options:

1. % Lease

2. % Yerbose

= % aquatic

4. % Embezzlerment

Sub-Section Number: 2
Sub-Section 1d: 966231275
Question Shuffling Allowed : Yes

Question Id : 9662316898 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions:

Denise Coates CEE is a British billionaire businesswomarn, the founder, and joint chief executive of online
gambling company Bet365. As of May 2018, Forbes magazine estimated her net worth at $4.6 billion. Coates
paid herself £265 million in compensation in 2018, in a record-breaking pay deal for the chief executive of a
Eritish company. The significant pay package, which equates to approxirmately £726,000 a day, dwarfs the
previous UK record set by Coates when she collected £217m a year earlier. Coates was paid a base salary of
£220,004,000 in the vear to March 2018, accounts filed at Companies House reveal. Furthermore, she
collected dividend pavments of £45m from her more than 50% shareholding in the Stoke-based company.
Coates' pay 1S more than 9,500 times the average UK salary, 1,700 tirnes that collected by the prime rrnister
and more than double that paid to the entire Stoke City football tearn, which Bet365 owns. Coates's pay is also
27 times that earned by Tim Coolk, the chief executive of Apple, the world's most valuable company. Denise
Coates is the eldest daughter of Peter Coates, chairman of Stoke City F.C. and the director of Bet265, and is
married to Richard Smith, a director at Stoke City Football Club. She earned a first class degree in
econometrics from the University of Sheffield.

While at school, Coates started work in the cashiers' departrment within the farmily boolkmaking firm, Provincial
Racing, where she would mark up bets. After leaving university she trained as an accourntant within the family
business, before being given the opportunity to take over the small chain of shops. Having turned around the
shops' fortunes, Coates obtained a loan from Barclays to acquire a neighbouring chain. In 1995, she hacame
the managing director of the betting shop estate.

Sub questions

Question Number : 76 Question Id : 9662316899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear did Devise pay herself £265 miillion in compensation?

Options:

1. % 2017
2 = 2016
=¥ 2018
4 = 2015

Question Number : 77 Question Id : 9662316900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



______ magazine estimated her net worth at $4.6 billion.
Options:

1. ® Fortune

= % Time

3. ¥ Forbes

4. % INo option is correct

Question Number : 78 Question Id : 9662316901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Coates’ pay 15 more tharn tirmmes the average UK salary.

Options:
1. # Double

2. ¥ 9500
3. % 1700
4 % 27

Question Number : 79 Question Id : 9662316902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The director of Bet 85 is in what relation to Denise Coates?

Options:

1. ¥ Father

Z % Husband
3. #® Brother

4. % Friend

Question Number : 80 Question Id : 9662316903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which word from the passage is opposite in meaning o trivial?

Options:

1. % Dwmarfs

2. ¥ Significant
3. # Estimated

4. % Degree

Question Id : 9662316898 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following information carefully and answer the given questions:

Denise Coates CEE is a British billionaire businesswomarn, the founder, and joint chief executive of online
gambling company Bet365. As of May 2018, Forbes magazine estimated her net worth at $4.6 billion. Coates
paid herself £265 million in compensation in 2018, in a record-breaking pay deal for the chief executive of a
Eritish company. The significant pay package, which equates to approxirmately £726,000 a day, dwarfs the
previous UK record set by Coates when she collected £217m a year earlier. Coates was paid a base salary of
£220,004,000 in the vear to March 2018, accounts filed at Companies House reveal. Furthermore, she
collected dividend pavments of £45m from her more than 50% shareholding in the Stoke-based company.
Coates' pay 1S more than 9,500 times the average UK salary, 1,700 tirnes that collected by the prime rrnister
and more than double that paid to the entire Stoke City football tearn, which Bet365 owns. Coates's pay is also
27 times that earned by Tim Coolk, the chief executive of Apple, the world's most valuable company. Denise
Coates is the eldest daughter of Peter Coates, chairman of Stoke City F.C. and the director of Bet265, and is
married to Richard Smith, a director at Stoke City Football Club. She earned a first class degree in
econometrics from the University of Sheffield.

While at school, Coates started work in the cashiers' departrment within the farmily boolkmaking firm, Provincial
Racing, where she would mark up bets. After leaving university she trained as an accourntant within the family
business, before being given the opportunity to take over the small chain of shops. Having turned around the
shops' fortunes, Coates obtained a loan from Barclays to acquire a neighbouring chain. In 1995, she hacame
the managing director of the betting shop estate.

Sub questions

Question Number : 76 Question Id : 9662316899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear did Devise pay herself £265 miillion in compensation?

Options:

1. % 2017
2 = 2016
=¥ 2018
4 = 2015

Question Number : 77 Question Id : 9662316900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ magazine estimated her net worth at $4.6 billion.

Options:

1. ®* Forturne
Z = Time

3. % Forbes

4, = Mo oplion is correct

Question Number : 78 Question Id : 9662316901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Coates’ pay 15 more tharn tirmmes the average UK salary.

Options:
1. = Double

2. % 9500
S 1700
4. = 27

Question Number : 79 Question Id : 9662316902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The director of Bet 265 is in what relation to Denise Coates?

Options:

1. ¥ Father

2. % Husband
3. % Brother

4 % Friend

Question Number : 80 Question Id : 9662316903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which word from the passage is opposite in meaning o trivial?

Options:

1. % Dwmarfs

= % Significant
3. % Estirmated

4. % Degres
Cereral Hindi
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Question Number : 81 Question Id : 9662316904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TgieET # & #1991 geg Sae 27
Options:

1. % &K

2. % T
3% g
4. & Tz

Question Number : 81 Question Id : 9662316904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR § & %9 A7 e, 485 27
Options:

1. % 3T

2. ® Ty

3 % 99

4. fasd

Question Number : 82 Question Id : 9662316905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToT T e H i W TR W T He-T B ST

g HET T )
Options:

1. ¥ gauamEs
2. ® TagETE

2. v TeoaaEE
4. ® aqeTaRET

Question Number : 82 Question Id : 9662316905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TomT T =Terer # YEieRd AT TR WRTE ST Wi & ST e

5 AL O
Options:

1. ® HerEmE®
2. % T

3. ¥ TeamamEer
4. ® ieaarEE

Question Number : 83 Question Id : 9662316906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tamr T ate T AT fdweg d
EEHIE]

Options:



1. % mgr + 3
2 ¥ mET+ W
% % [mE o+ A
4, % @y + A

Question Number : 83 Question Id : 9662316906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tam T sre T AT fEe He
ASIA

Options:

1. % mEr + W
o ¢ mET+ I
3. % mp o+ e
4 % A7+ A

Question Number : 84 Question Id : 9662316907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
20T TIT STeg o THTE &7 =3 F )

HGEIL
Options:

1. ¢ Fegey

2, % g
3. % arerdaT
4 % T

Question Number : 84 Question Id : 9662316907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 M7 sreg & WA %7 = Hif

G CILE
Options:

1. ¢ Fegey

2 % g
S e e R
4 % o

Question Number : 85 Question Id : 9662316908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty T sreg @ ARt g A R

HTHIE

Options:
1. % geoh
o ® dar



3% gEd
4  §ar

Question Number : 85 Question Id : 9662316908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Sreg @1 AR deg AT iR

HIHGE
Options:

1. % geofa
o % e
I % g
4 ¥ T

Question Number : 86 Question Id : 9662316909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T sTeg, AE ¥ o0 I deg T O9 S

TR S+ 272 T EN
Options:

1. % sfzrem

2. ® EAE

o ® oaEg
4 ¥ auEq

Question Number : 86 Question Id : 9662316909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tam T weg wE ¥ T IR eg @ Eae Hi
FATHT </ 272 HEN

Options:

1. % ajzTemr

2 % azue

3. ® aizd

4 & Uz

Question Number : 87 Question Id : 9662316910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FamET # & ®9 ar g Hucarie g7

Options:

1.9 ag-0d
2. % §ow - g
z. % gy - ey
4, % FHET- T



Question Number : 87 Question Id : 9662316910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET # | & a7 g AuareE g7

Options:

1. ¥ e - o
2 % @ - g
3. ® gy - fEeg
4 ® FET- 94

Question Number : 88 Question Id : 9662316911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To T gy & ol FT @ Op e

Options:

1. % s
= ¥ IR
3. % st
4. % Fdeg

Question Number : 88 Question Id : 9662316911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tamr i e o T e g

Options:

1. %
= ¥ SR
3. % g
4. % wdeq

Question Number : 89 Question Id : 9662316912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T areat W SHE o AT 0 A i

T 31TH 91T 51
Options:

1. ¢ Ffara
2. % FHIRT
3. ® IOaRYT
4 ® OEERd

Question Number : 89 Question Id : 9662316912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T T segf % SH | TR W €0 AT S

T 31TH 9T 31
Options:

1. ¢ Ffarg
o % FHaET
3. ¥ FvaRET
4. % EaRT

Question Number : 90 Question Id : 9662316913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT # & argeg I @1 o s
Options:

1. % areey Agied gEger o
2. e 70 W AT W

= o Tg T Tear Wi A B

4 % gl TH ®e AT

Question Number : 90 Question Id : 9662316913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRfeET O & arRg e @7 gae S

Options:

1. % aredy Agied gEgr @i
2. % Eeo BT T AT F

=, o g T et T A B

4 % 3l TH Tl ATAT

Question Number : 91 Question Id : 9662316914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘g WelaT H 19 |7 FF 57

Options:

1. ¢ TEER goEy
2 % gmEe aoEy
3 % auEM TogEy
4 % dravey aogey

Question Number : 91 Question Id : 9662316914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘g Walar H 19 |7 & 57

Options:

1. & st aogey
2 % gmEe aoEy
3 % auEH ToqEy
4 R graey aogey



Question Number : 92 Question Id : 9662316915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tor T et | & T ST T S i

Options:

1. % =g @ AET arguiedrid # gem

2. % gF o= E T A UAT AR JHe

%, % gf oUE AT R4 T AT SEe AT T
4, & T E I a5 2 Aw T H# s A

Question Number : 92 Question Id : 9662316915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T g ATt § & TR S @ = e
Options:

1. % o5 @ 7T arquiedrtd § gam

o, % gg e g O A UAT AR AHe

%, % gF IUE # =T AR T AT SEET AT T
4 & amam 7 T ag oraw T # s A

Question Number : 93 Question Id : 9662316916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrmfeiaT ma # oy 7y = Rwedt § 6, 39 e w1 mae @ it ey m geTek & sl @ adiy §0 & oo weaT 8

ST o T5f I
Options:
1. ¥ Tiret @7 AT

2. % 97 ¥ g=91E FeAN
3. ¥ FAH-F SST HIS w0
4 % ST FEATF IH AR

Question Number : 93 Question Id : 9662316916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt g # T my o Rt # 9 39 ey @ ae o S Ry m grTe F ol F S9ay w7 8 s aaT gl

ST oIl ol A

Options:

1. % T % AR

2. % 97§ g=E1E HeAN

3. ¥ ST ST HIS w0
4 % I T FHAT IF O3 O

Question Number : 94 Question Id : 9662316917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ta T A 3 o agt o g ae e

Teria - T - e o og W i §
Options:

1. ¥ TR, ¥, N ST o 96 T 8
2. % [T - ¥ - Wid - ag A T
3. % ToMtE, T, - W o 9g WH R E
4. % T - T, R - 9 S 5 5

Question Number : 94 Question Id : 9662316917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o Ty e F T wEt e g e e

Teia - T - W 3T g W i 3
Options:

1. ¢ Torfta, T T i ag EA i 8
2 % TEHT - 7Y - Wa - I Ee g g
3. ® o, 1Y - W SR ug G T
4. % T - ¥, WWT - Ig G 1g )

Question Number : 95 Question Id : 9662316918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TerafefT g # fag my = Rt § € 79 R &1 =3 @ S fay my geren % anf #1 adiy w0 & s Fear
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Question Number : 95 Question Id : 9662316918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Id: 966231277
Question Shuffling Allowed : Yes



Question Id : 9662316919 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 9662316920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 97 Question Id : 9662316921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 9662316922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 99 Question Id : 9662316923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 9662316924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 9662316919 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 9662316920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 9662316921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 9662316922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 9662316923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 9662316924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Disciplinel
Group Number : 6
Group Id: 966231139
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Disciplinel

Section Id : 966231254

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231278
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 9662316925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which among the following is NOT a major salivary gland?
Options:

, « Glossopalatine gland

- u Parotid gland

5 ® Submandibular gland

4 = Sublingual gland

Question Number : 101 Question 1d : 9662316925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 9662316926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the predominant sequence of eruption of the primary teeth in the individual jaw?

Options:
i ® A-D-C-B-E

> % A-C-E-D-B
s  A-B-D-C-E

4 % A-E-C-D-E

Question Number : 102 Question Id : 9662316926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, » A-D-C-B-E
. » A-C-E-D-B
- v A-B-D-C-E

. % A-E-C-D-E

Question Number : 103 Question Id : 9662316927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a muscle of facial expression?

Options:
1 % Mentalis
o o Masseter

= % Orbicularis oris

4 % Buccinator

Question Number : 103 Question Id : 9662316927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 9662316928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify a branch of mandibular division of the trigeminal nerve from the following:

Options:
1 % frontal nerve

-, % Zygomatic nerve

= % infraorbital nerve

4 + inferior alveolar nerve

Question Number : 104 Question Id : 9662316928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 9662316929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Which among the given options is NOT a ligament of the temporomandibular joint?

Options:
, = Temporomandibular

> % Stylomandibular

5  Stylohyoid

4 # Sphenomandibular

Question Number : 105 Question Id : 9662316929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 9662316930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a branch of the external carotid artery?
Options:

, « Lingual artery

- % Suprascapular artery

- = Subclavian artery

4 » Inferior thyroid artery

Question Number : 106 Question Id : 9662316930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 9662316931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is NOT a process of the maxilla?

Options:
1 % Frontal

- % Palatine

- # Zygomatic

4 + Coronoid

Question Number : 107 Question Id : 9662316931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 108 Question Id : 9662316932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Stapedius muscle is supplied by the nerve.

Options:
1 « facial

> % mandibular
- % vestibulocochlear

4 % trochlear

Question Number : 108 Question Id : 9662316932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 109 Question Id : 9662316933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In normal dentition. which of the following teeth have only one antagonist in the opposing jaw?
Options:

1 % Mandibular canines

Maxillary central incisors

z « Mandibular central incisors

Maxillary canines

Question Number : 109 Question Id : 9662316933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 9662316934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The chorda tympani nerve supplies taste sensation to the anterior two-thirds of the tongue. Which cranial nerve gives

rise to the chorda tympani nerve?
Options:
, w Irigeminal

- % Abducens
3 o Facial

4 % Vestibulocochlear

Question Number : 110 Question Id : 9662316934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et fooetr aferr Sfer & seraclt al-fors T e e wgee 1 FieT Rue afyer fr sefen
fFe warer afyer & gidr 87

Options:

| x TS (SRATHE)
a2 HIGaa! (Tegdea)

, JET (%)

3

o wemufia-Foiadr (IEcgeFFera)



Question Number : 111 Question 1d : 9662316935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What does the Latin abbreviation ‘qid’ stand for in prescription writing?

Options:
, » Onceaday

» = Iwiceaday

- w lhreetimes aday

4 « Fourtimes aday

Question Number : 111 Question 1d : 9662316935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 9662316936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a stage of tooth development?
Options:

, » Bud stage

-  Flower stage

5 % Cap stage

4 w Bell stage



Question Number : 112 Question Id : 9662316936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S8 U F4T &9 9oy &7 =}oT 61 27

Options:
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Question Number : 113 Question 1d : 9662316937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is the hardest calcified tissue in the human body.

Options:
1 « Enamel

> % Dentin
=z % Cementum

4 % Alveolar bone

Question Number : 113 Question 1d : 9662316937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 9662316938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following CANNOT be classified as simple epithelium?
Options:

| « Stratified squamous

5 % Squamous

z % Cuboidal

4 % Columnar

Question Number : 114 Question Id : 9662316938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 9662316939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following does NOT have a nucleus?

Options:
| % Leucocyte

-  Erythrocyte

5 = Lymphocyte

4 % Monocyte

Question Number : 115 Question Id : 9662316939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 9662316940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is NOT a parenteral route of drug administration?

Options:
1 « Oral

- #% Subcutaneous
= % Intramuscular

4 % Intravenous

Question Number : 116 Question Id : 9662316940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 117 Question Id : 9662316941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
During the development of face, the maxillary prominence arises from proximal part of which pharyngeal arch?

Options:

.  First pharyngeal arch
5 ® Second pharyngeal arch
5 » [Ihird pharyngeal arch
4 w Fourth pharyngeal arch

Question Number : 117 Question Id : 9662316941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question 1d : 9662316942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following salivary glands is a pure serous gland?

Options:
, = Glossopalatine gland

» = Lingual gland

-  Parotid gland

4 = Sublingual gland

Question Number : 118 Question 1d : 9662316942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 9662316943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

From the given examples of orofacial pain. identify the one that can be classified as nociceptive pain.
Options:

, = Irigeminal neuralgia

- u Post-herpetic neuralgia

5 » Fibromyalgia

4 Toothache (pulpitis)

Question Number : 119 Question 1d : 9662316943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AE-AA (IRBRTS) &8 & T 1T e &, 386 7o #{ 5 F &6 & SRo(Araated) & &
# Feffea & o1 @ g

Options:
. TS afeE (gEeifEeer Fgufesan)
. » PIESIAI eI

4_¢ﬁ?fﬁ‘(‘=fﬁqﬁﬁ'ﬂ7



Question Number : 120 Question Id : 9662316944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of these groups does NOT belong to the principal fibres of the periodontal ligament?
Options:

, = Oblique group

-  Circular group

- w Horizontal group

4 % Apical group

Question Number : 120 Question 1d : 9662316944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Discipline?
Group Number : 7
Group Id: 966231140
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Discipline?

Section Id : 966231255

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231279
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 9662316945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
During the development of jaws. which teeth arise directly from the distal extension of dental lamina?

Options:
1 % Permanent incisors

- % Permanent canines

- » Permanent premolars

4 + Permanent molars

Question Number : 121 Question Id : 9662316945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following antibiotics are known to cause permanent discoloration of teeth during tooth development?

Options:
| « Tetracyclines
- % Penicillins

- = Cephalosporins

4 w Fluoroquinolones
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Question Number : 123 Question Id : 9662316947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an antiviral drug?

Options:
1 % Ketoconazole
- % Amoxicillin

3 « Zidovudine

¢ Nystatin
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Correct Marks: 1 Wrong Marks: 0.25

Which of the following is INCORRECT about chlorhexidine mouthwash?
Options:

, = Itisasecond-generation topical antimicrobial mouth rinse.

» u Yellow. brownish extrinsic staining of the teeth is a common adverse effect.

= u Itisrecommended to rinse twice a day for 30 seconds.

4 « It does not exhibit substantivity.
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Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an opioid analgesic?
Options:

1 « Tramadol

Aspirin
Acetaminophen

4 % Ketorolac
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Question Number : 126 Question Id : 9662316950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following local anaesthetic agents is usually used for lengthy dental procedures?

Options:
1 % Cocaine

-  Bupivacaine
= % Lidocaine

4 = Mepivacaine
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a drug of choice for anaphylaxis?

Options:
1 % Diazepam

- u Nitroglycerin

Glucagon

» Epinephrine
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Correct Marks: 1 Wrong Marks: 0.25
Antibiotic prophylaxis is NOT recommended for which of the following dental procedures?

Options:
1 % Placement of orthodontic bands

- u Scaling and root planing

-  laking oral impressions or radiographs

4 % Dental extractions
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Which of the following statements about aspirin is INCORRECT?
Options:

, = Itisknown fo possess antiplatelet effects.

- » It has anti-inflammatory, analgesic and antipyretic effects.

= « It is a selective COX-2 inhibitor.

4 = Its adverse effects include gastrointestinal bleeding and peptic ulcers.
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Question Number : 130 Question Id : 9662316954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of these drugs CANNOT be classified as the first line of drugs for the treatment of tuberculosis?

Options:
|  Streptomycin

> % Isoniazid

- = Rifampin

4 % Ethambutol
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Which of the following terms refers to an increase in the size of cells?
Options:

, = Atrophy

-  Hypertrophy
Hyperplasia

Aplasia
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Correct Marks: 1 Wrong Marks: 0.25
When referring to the cardinal signs of inflammation, what does the term *dolor’ mean?

Options:
1 % Redness

5 = Swelling

= #% Heat

4 « Pain
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a chemical agent used in sterilization and disinfection?

Options:
1 % Dry Heat

-  Aldehydes

= % Filtration

4 % Radiation
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Tuberculosis is an infectious disease caused by
Options:
1 « bacteria

> % Virus

5 » fungi

4 % Drotozoa
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a type of necrosis?

Options:
; = Coagulative

- # Liquefactive

-  Hyperplastic

4 % Caseous
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a fat-soluble vitamin?

Options:
1 % Thiamine

> o Retinol
=z % Riboflavin

4 % Ascorbic Acid
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Single Line Question Option : No Option Orientation : Vertical
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Which of these is NOT an example of viral vaccine?
Options:
, = Oral polio vaccine-Salk

- = Injectable polio vaccine-Sabin

- u Hepatitis B vaccine

4 « BCG vaccine
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Which of the following are gram-negative cocci?
Options:

1 « Neisseria

Staphylococcus

Streptococcus

Mycobacterium
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Question Number : 139 Question Id : 9662316963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a sexually transmitted virus?

Options:
1 % HEi‘pES 31mplex Vvirus

> % HIV
-  Hepatitis A virus

4 » Hepatitis B virus

Question Number : 139 Question Id : 9662316963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25

Which of the following is also known as Christmas Disease?
Options:
Hemophilia A

3.9

-  Hemophilia B

- » Hemophilia C

, = Hemophilia D
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Question Number : 141 Question Id : 9662316965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hay Fever and Bronchial Asthma can be classified into which type hypersensitivity reaction?

Options:
, « Typel

> % Typell

5 % Type III

4 u LypelV
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Which of the following imaging techniques uses non-ionizing radiation for image acquisition instead of x-rays?

Options:
1 ® CBCT

> w Computed tomography (CT)

- = Intra-oral periapical radiography

4 « MRI
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Question Number : 143 Question Id : 9662316967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following conditions does the tooth appear smaller than normal?

Options:
1 % Macrodontia
- % Fusion

z % Gemination

4 « Microdontia
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Question Number : 144 Question Id : 9662316968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an advantage of digital imaging over conventional film-based radiography?

Options:
, = Thereis areduction in patient exposure.

- u It eliminates chemical processing and hazardous wastes.

- o It allows enhancements. corrections and measurements.

4 « The initial expense of digital imaging set up is high.
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Question Number : 145 Question Id : 9662316969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is INCORRECT about collimation of x-rays?

Options:
, = Restricts the size of the x-ray beam

- u Reduces patient exposure

-  Reduces image quality

4 = lmproves image quality
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Question Number : 146 Question Id : 9662316970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Which of the following structures normally appears radiopaque on an intra-oral periapical radiograph?

Options:
1 + Lamina Dura

> % Dental Pulp

%z % Mental Foramen

, # Periodontal ligament space
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Question Number : 147 Question Id : 9662316971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Which of the following would NOT be helpful in reducing patient exposure while obtaining an x-ray?
Options:

; = Using faster speed films

> w Using intensifying screens

-  Decreasing focal spot to film distance

4 = Using lead aprons and collars
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Question Number : 148 Question Id : 9662316972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Considering the normal anatomy of the alveolar bone, the height of the alveolar crest lies approximately at what level

with respect to the cementoenamel junctions (CEJs) of the adjacent teeth?
Options:
1 % 2-2.5mm below the level of CEJ

> o 1-1.5mm below the level of CEJ
z % 1-1.5mm above the level of CEJ

4 % 2-2.5mm above the level of CEJ
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Question Number : 149 Question Id ;: 9662316973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Which was the first direct digital image receptor to be adapted for intra-oral digital imaging and introduced to dentistry
in 19877

Options:

, = Flat panel detectors

- » Complementary metal oxide semiconductors



5  Charge-coupled device

4 = Photostimulable phosphor
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Question Number : 150 Question Id : 9662316974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the technique of choice for visualizing internal derangements of the TMJ from the following.

Options:
, w» Conventional radiography

> « MRI

CT scan

M
g‘{

4 ® CBCT
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Question Number : 151 Question Id : 9662316975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the early 20t century, who created the first dental hvgiene school?

Options:
1 « Alfred C. Fones

- % Irene Newman
= % Frank Lamons

4 » Edward H. Angle
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Correct Marks: 1 Wrong Marks: 0.25

Which of the following tooth brushing methods is considered to be detrimental as it may cause tooth abrasion?
Options:

1 #% Charters method



> % Modified Stillman method
% « Horizontal method

4 % Bass method
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Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT true regarding dental hygiene care for a patient undergoing orthodontic treatment?
Options:

, w» Aspecial bilevel orthodontic tooth brush can be applied directly over the orthodontic appliance.

- = Orthodontic appliances retain biofilm and debris.

5 » Dental biofilm retention around orthodontic appliances leads to gingivitis.

4 « lregularly positioned teeth are less susceptible to the retention of dental biofilms.
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Question Number : 154 Question 1d : 9662316978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the working end of a curet or a scalar called?

Options:
1 % Blank

> o Blade
=z % Shank

4 % Handle
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Which of the following is INCORRECT about sonic scalars when compared to ultrasonic scalars?
Options:

, = Less powerful than ultrasonic scalars



-  More powerful than ultrasonic scalars

= % Calculus removal is more difficult with sonic scalars

4 = Frequency of vibration is less than ultrasonic scalars
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Question Number : 156 Question Id : 9662316980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Plaque control and calculus removal constitute which phase of periodontal therapy?

Options:
1 « Phasel

- % Phasell
- % Phase IIT

4 % PhaseIV
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is NOT true regarding instrumentation during oral prophylaxis around a dental implant?
Options:

, w Traditional non-metal plastic instruments are safe for use.

> u Confine manual instrument strokes to the prosthesis and the supragingival area of the abutment.

5 » Care is taken not to scratch or alter in any way the surfaces of titanium.

4 « Use high power when instrumenting implant abutments with an ultrasonic device.

Question Number : 157 Question Id : 9662316981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&d JeIRITUT & AT Af@w deferty (3w AfhdfEea) & s Tewor (Sdae) F sN #
fA=ef@a & ¥ 5 o Ry @ a8 27

Options:

oa warT & o wWmeEe I-arfeas canfEes 39eor AT g 2

AT gra-=nfog (Agar) 39s0T, FiaA (Feafdw) 3t s (TeeHe) & A9ggr & F94 &
L (@SS oREm) o Hrer e

, « hEr ot gER H TR o IiEas & g9 F B asfes & g F 9 @Eue @ g

el (TegEiias) 3TH0T F Y FRRT JUR (€ TaeHE) T 30T FT T4 g AT 3=
4 v AFT FT TBT HY

Question Number : 158 Question Id : 9662316982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following periodontal probes has probe markings (in mm) at 3.5-55-8.5-11.57



Options:
, % William’s probe

- u Glickman probe

5 « WHO probe

4 = Merritt B probe

Question Number : 158 Question 1d : 9662316982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
sa8 ¥ T ofefasr (afraieieee) &r sr=t (Wew) #§ 3.5 - 55 - 85 - 11.5 o &7 =ed (mm &) gF
&2

Options:

, x AemE Fram A

> x Fomaa fra= &

e Secg U.3.(WHO) & == H

Question Number : 159 Question Id : 9662316983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Use of sickle scalars subgingivally is contraindicated due to all of the following except:
Options:

. « curved blade with rounded ends permits access to the base of the sulcus or pocket

- # causes undue trauma to the gingival tissue because of the large size, thickness and length of the blade

- » tactile sensitivity decreases with larger. heavier blades

4 % Dpointed tip and straight cutting edges cannot be adapted to the curved root surfaces
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is NOT a mass approach for health education?

Options:
| % Newspaper
> % Television

=z % Radio

4 « Personal contact

Question Number : 160 Question Id : 9662316984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Traef@a 7 O Far Tareey 6T FT U UTIE TIOCHhIuT Al 87
Options:

1 ® HATAL-9H

L w Centaee

3_%3?%-&‘1-

£
, o ST TFTh

Discipline4



Group Number : 9

Group Id : 966231142
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline4
Section Id : 966231257
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 966231281
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9662316985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a positive oral health habit?

Options:
, » Tobacco chewing

> # Smoking cigarettes

-  Regular flossing

4 % Anorexia nervosa
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Question Number : 162 Question Id : 9662316986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Expectant parents possessing no knowledge of early childhood caries’ is an example of which step of the learning

ladder model?
Options:
1« Unawareness

o % Awareness
=z % Involvement

4 % Action
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Question Number : 163 Question Id : 9662316987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following learning material is an example of high-tech media used by oral health educators?

Options:



, w Story boards

-~ u Display boards

-  Vvideo recording

4 % White boards
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Question Number : 164 Question Id : 9662316988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which type of health need is based on what the patient feels that they require in relation to their own assessment?

Options:
1 % Normative need

- « Perceived need

Expressed need

Comparative need
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Question Number : 165 Question Id : 9662316989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a stage of the *Stages of Change’ model given by Prochaska and DiClemente (1984) to
explain health related behaviour in health education?
Options:
. Precontemplation

R

» » Contemplation

-  Preoccupation

4 % Maintenance
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What are questions with “Yes or No” answers in a questionnaire known as?
Options:
, = Open-ended questions

-  Closed-ended questions

- u lrrelevant questions

4 = Offensive questions

Question Number : 166 Question 1d : 9662316990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U FIATISr H BT AT FAGr Scdil el WeaAT T 4T Fal ATl g7
Options:

| % HTF-USS 937

> v FATA-USE T3
5w HYTHES T
4 % HOlcd=teienr 99

Question Number : 167 Question Id : 9662316991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When comparing health education to propaganda. which among the following is NOT true about health education?

Options:
, = Itisabehaviour-centred process.

- u Itaims at developing favourable attitudes, habits and skills.

5  Knowledge is spoon-fed and passively received.

, w Itmakes people think for themselves.

Question Number : 167 Question Id : 9662316991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T T @ goeT TOR ® S W, T BT & an A Tl # ¥ sl @1 Reer a@@r gt
g2

Options:

. % U8 UF TUIgR-higd Fihdr gl

L u TE 3297 ool TUIER, HEd R e Fwfla e g

. » T HEEEEE T Sieared fhar AT g 3R Fessear @ wrea R S gl

, « TE T @ G F e fEer w2

Question Number : 168 Question Id : 9662316992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is at the top-most level in Maslow’s Hierarchy of Needs?

Options:
1 % Social needs

~ « Self-actualization

5 # Security and safety needs

4 = Physiological needs
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Correct Marks: 1 Wrong Marks: 0.25
Which type of evaluations of a health program helps to point out problems and make improvements during the

implementation process?
Options:
1 « Formative evaluation

> % Summative evaluation
z % Outcome evaluation

4 % Indirect evaluation
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Question Number : 170 Question Id : 9662316994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who developed the Social Cognitive Theory of health behaviours in the 1970°s?

Options:
, w Sigmund Freud

- % Erik Erikson
= « Albert Bandura

, = Jean Piaget
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is NOT a mechanism of action of fluorides for prevention of dental caries?

Options:
1 # Inhibits demineralisation

> « Inhibits remineralisation
= #% Enhances remineralisation

4, = Inhibits bacterial growth
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Question Number : 172 Question Id : 9662316996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following correctly describes the ‘M’ component of the DMFT index used to determine total caries

experience of an individual?

Options:
1 % Mineralized

- % Molar
5 o Missing

Memory
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a part of the epidemiological triangle?

Options:
1 ® Host

e Goal

5 w Agent

4 % Environment
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The proportion of people in a population that have a disease at any given time is known as:
Options:

1 % Incidence

> # Mortality

z « Prevalence

4 = Sensitivity
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a part of the 5A’s protocol for the tobacco cessation program?

Options:
1 % Ask

> « Apply
%z % Advise

4 % Assist
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Dean’s Fluorosis Index, white opacity of the enamel covering more than 25% but less than 50% of the

tooth surface belongs to which category?
Options:
1 % Normal enamel

Questionable fluorosis

= « Mild fluorosis

4 % Moderate fluorosis
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The objectives of a dental health program should be based on ‘SMART’ criteria. What does SMART stand for?
Options:

| % Sustainable. Measurable. Authentic. Realistic, Time bound

- # Specific. Measurable. Appealing, Realistic. Time bound

- % Sustainable. Memorable. Appropriate, Realistic, Time bound

4 « Specific, Measurable, Appropriate, Realistic, Time bound
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Which among the following can be allocated a score of ‘1° in the simplified calculus index (CI-S) component of
Simplified Oral Hygiene Index (OHI-S)?
Options:

, = No calculus is present.

-  Supragingival calculus covering is not more than one-third of the exposed tooth surface being examined.

- » Supragingival calculus covering is more than one-third but not more than two-thirds of the exposed tooth surface.

4 = Supragingival calculus covering is more than two-thirds of the exposed tooth surface.

Question Number : 178 Question Id : 9662317002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TH § 58 wehea Al T=oar gEee (3R gsfee $399) (OHI-S) & ®Xdigd 319H JI&s
(Fergpere $3%°H) (CI-S) Tes & 1" &1 3% (FPR) Hafed har o e &7

Options:

Ea HIE HH (Folpory) AeTA= 7 2|

T AL F HH HEROT (AT IGel horperd HafeT) S HAga & 1 FIg & T TogTs &5
. o O & 8, ST
FI FAGE F HIH AT (GG Foaperd HAN), HAG & I Tag & U [dgrg #197 §
o~ e ¢ g a-fes & s 78 2
TR ARG FT A 0T (AT G holged HANET), FAGT &F $T TAE & al-ags #7eT § Hfow
x gl
4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the statement which correctly describes “predictive value’ of a screening test.
Options:

, « Itisameasure of the usefulness of a test in classifying people with disease.

- % Itisthe proportion of those who truly have the disease that are correctly classified as having it.

- % Itisthe proportion of those who truly do not have the disease that are correctly classified as not having it.

4 = Itisthe proportion of those who truly do not have the disease but are classified as having it.
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is NOT a characteristic of a confounding factor when studying disease causation?

Options:
. = Itmust be associated with exposure.

> o It must not be associated with disease.

- » It must be associated with disease. even among the unexposed.

4 % Itmustnot be an intermediate on the causal pathway between exposure and disease.

Question Number : 180 Question Id : 9662317004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Disciplines
Group Number : 10
Group Id: 966231143
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 966231258
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231282
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9662317005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fluoridation of community water supply falls under which level of prevention for dental caries?
Options:

1 Not a prex-‘-en‘[ive measure

-  Primary prevention

- » Secondary prevention

4 # lertiary prevention



Question Number : 181 Question Id : 9662317005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 9662317006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the critical pH below which initial demineralization of enamel begins?
Options:

1 S2ENS

Question Number : 182 Question Id : 9662317006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. v+ 52-55
» % 6.2 -85
2% 72-75
4% 82 -85

Question Number : 183 Question Id : 9662317007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
What is a secondary level for prevention of oral cancer?

Options:
1 % Patient education

> % Avoidance of known irritants

-  Early diagnosis and prompt treatment

4 = Surgery/chemotherapy

Question Number : 183 Question Id : 9662317007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question 1d : 9662317008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the topical fluoride among the following.

Options:
, » Community water fluoridation

» % Milk fluoridation

5 % Fluoride supplements

4 + Fluoride varnish

Question Number : 184 Question Id : 9662317008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question 1d : 9662317009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Who among the following would benefit the most from professional topical fluoride application?

Options:
, « Individuals undergoing radiation therapy

5 R Individuals with normal salivary flow

- » Individuals with low caries rate in the family

4 % Individuals with low biofilm scores

Question Number : 185 Question Id : 9662317009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 9662317010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Which among the following is NOT a contraindication for pit and fissure sealant placement?

Options:
, = Radiographic evidence of adjacent proximal dental caries

- % looth not completely erupted

5  Frequent sugar intake

, = Pitand fissures are well coalesced and self-cleansing

Question Number : 186 Question Id : 9662317010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 9662317011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Which of the following is true about fluoride varnishes?
Options:

, w Itisapart of systemic fluoride therapy.

- « varnish prolongs the contact time of fluoride with the tooth surface.

= % Application is recommended at least every 3—4 days per week.

4 % varnish has a lower concentration of fluoride than gel or foam.

Question Number : 187 Question Id : 9662317011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question 1d : 9662317012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following individuals do NOT fall into low risk category during Caries Risk Assessment?

Options:
1 % Those who drink fluoridated water

> » Those who use fluoride mouth rinse regularly

= % Ihose who use sugar-free xylitol gum between meals

4 « Those who have xerostomia due to a systemic disease

Question Number : 188 Question Id : 9662317012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 9662317013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the recommended dose of dietary fluoride supplement for a 5-year old child living in an area where primary

water supply contains less than 0.3 ppm of fluoride?

Options:

Question Number : 189 Question Id : 9662317013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

; » 0 mg

> » 0.25 mg

-  0.50 mg

4 » 1.0 mg

Question Number : 190 Question Id : 9662317014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PACE represents the four interrelated elements of the spirit of motivational interviewing. The full form of PACE is:

Options:
, = Partnership, Allocation. Comparison and Evocation.

- u Partnership. Acceptance. Comparison and Empowerment.

5  Partnership. Acceptance. Compassion and Evocation.

4 = Partnership, Allocation, Compassion, and Empowerment.



Question Number : 190 Question Id : 9662317014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 9662317015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Above all, do no harm’. Which of the following ethical principles best encompasses this statement in the health care

environment?
Options:

| ® Autonomy

Confidentiality

= « Nonmaleficence

Veracity

o
8

Question Number : 191 Question Id : 9662317015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 9662317016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘A violation of an agreement or promise between two persons to do or not to do something.” Which law under private or

civil laws concerning health care providers is best described in this statement?
Options:
1 « Contract law

- u Property law

5 # Family law

4 = Corporate law

Question Number : 192 Question Id : 9662317016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 9662317017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT true when obtaining an informed consent prior to treatment?
Options:

. w Inform about risks and limitations of the proposed treatment including probability of risk occurring.

> # Simplify the terminology so that the patient can understand.

= Do not answer questions asked by the patient and family.



, w Document all relevant factors and include the signed form in the patient’s records.

Question Number : 193 Question Id : 9662317017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 9662317018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a branch of dentistry which deals with the alignment of teeth and the jaw structure?

Options:
1 % Periodontics

> o Orthodontics
= % Prosthodontics

4 % Endodontics

Question Number : 194 Question Id : 9662317018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 9662317019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following does NOT belong to the profile of a dental hygienist?

Options:
1 % Prevention of dental disease

- w Specialization in cleaning and polishing of teeth

% % Patient education

4 « Surgical repair of cleft palate

Question Number : 195 Question Id : 9662317019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 9662317020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following best describes the meaning of an implied contract?
Options:

, « Itisanagreement that is shown by inference through signs. inaction, or silence.

- = Itis an agreement that is explicitly stated. either orally or in writing.

5 w It is an agreement that is made in the court of law.



4 = Itisan agreement which involves a written treatment plan and expenses given before treatment.

Question Number : 196 Question Id : 9662317020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 9662317021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wrote the first dental hygienist oath?

Options:
1 « Frank Lamons

- % Alfred C. Fones
= % Irene Newman

4 % John Snow

Question Number : 197 Question Id : 9662317021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 9662317022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following tooth number denotes permanent maxillary right central incisor, according to Federation

Dentaire Internationale (FDI) system of tooth numbering?
Options:
1 ® 21

2.;_;.#‘11
3_&3 13

4 ® 31

Question Number : 198 Question Id : 9662317022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question 1d : 9662317023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Regarding the two parties in a lawsuit, the individual bringing charges in the lawsuit is known as
Options:

; = thejury

- % the defendant

5  the plaintiff



4 = thejudge

Question Number : 199 Question Id : 9662317023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question 1d : 9662317024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following ethical theory proposed by John Stuart Mill, suggests that the rightness of an Act is measured by

the outcome?
Options:
1 « Utilitarian ethics

- % Virtue ethics

- # Deontological ethics

4 % Derived ethics

Question Number : 200 Question Id : 9662317024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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